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General Instructions:
1) Students are advised to choose an answer to every question.

S B 128 (i L ir p S e Y e U~ s
2) Read each question carefully before answering.
Ao Ede i Sy,
3) Do not take the question paper / answer sheet out of the examination centre.
Y A S ¢ ST /;gauL}’lZ/—// QKQIJZ.L._')/,_“JV)/ U~ I
4) Mark the correct option of MCQ with a Black /Blue ink.
94 %Lﬁz’gd‘g_/&." / g~ .,Azz-?/ Ldlyqﬁlmm/‘f
5) More than one marked answers will not be considered.
E/LL)L/W( /r‘y_~/u3L‘/gK _~«LC}15)LJL.~Q
6) Encircle the correct answer as shown in the example:
e AL e e S L _ing

Example: Lizards belong to which group of vertebrates?

-q_(__,:a‘sftj_ff_u-j“'/'fugj“’agﬁ Jer

a) Fishd—% b)  Amphibians/
@ Reptilesl_isZ d)  Mammals A"
Part-A (Multiple Choice Questions) Time Allowed: 1 hour
_,dlﬁgdlr‘ﬁulw/.l/,/—rjf_dlr‘/zwéug)_"_aUIYQL.'}:UL-{:}GZU.‘&'/../?U'/I ——

-z
Instructions: -Thirty two (32) Multiple Choice Questions (MCQs) are given in this
part. Attempt all questions. All questions carry equal marks.

Q. No.1. Identify the group of bacterial diseases;
st Sl vl sdndE o | A
:q.‘/
(a) Pneumonia, Sars U Aot (b) Aids, Scabies ,;:c Ik
(c) Tuberculosis, Plague ufurdé (d) Cholera, Measles s~

Q. No.2.  Which food component is found in excessive amount in mushrooms?
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S brsts 2y U su ~Pas e i U 1

(a) Fat o (b) Protein oy
(c) Vitamin s (d) Carbohydrate  +.6
_"_/;,/i/l[

Q. No.3. Viruses are considered non living because they are;

s et U S
(@) very small in size U PP g,
(b) not like a cell in shape w2 S o s
(c) depend on other living things (zd_ /a1 st — s
(d) found in crystal form wl_nfo— S~ S

Q. No.4. Inchildren, DNA is transferred from;
ot 256 S DNA— U

(a) sisters &= (b) brothers J# (c) friends ——-s (d) parents

u:,dl}
Q. No.5. An animal having a shell and a muscular foot is called;

Zq_uq_t'L.jkl;w.'/ e 3 rb:ldf.;ff

(a) snail J&=— (b) jelly fish u-”’ &= (c) cockroach —&Jv (d)

earthworm 15

Q. No.6. Identify the warm blooded animal;

- Q/&l&)&/i?fﬂrjb
(@) Frog — e (b) Ostrich {,.— == (c) Lizard &£ (d) Shark — e
Q. No.7. One cause of destruction of the ozone layer is;
P o'l SN BN
(@) Oz (b) H,O (c) Cl, (d) CFCs

Q. No.8. Mehreen‘s father has blue eyes and she also has blue eyes. The sharing of this
characteristic is known as;

;_3&/‘(_”;‘:"*@&?@‘/:}7&@%”1ug&fg:/TJJJl;LQM’

(a) Variation ~==2i5,s  (b) Heredity s (c) Accident ~=-sL> (d) Incident Ji
Q. No0.9. What will be the possible result of much increased forestation;

!q_d'. A./"J disd_n f:'_Ld_g_:alﬁ’u.L/

(a) Flooding b e (b) Soil erosion ="
(c) Earth pollution o=~ sy =" (d) Pleasant change in weather— e s

Jur
Q. No0.10. The basic cause of environmental degradation is;
t gl — A S A7

(a) rains = A

(b) increase in human population—zi_s=—" 73
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(c) earth quakes L7/’
(d) global warming — & is s
Q. No.11. A rock which is made up of layers;
e = LU aues

=
e

(a) igneous < (b) sedimentary S A—
(c) metamorphic b (d) intrusive s =
Q. No.12. In ;andle flames’ non luminous zone, hydrocarbons completely burn to form steam
and;
sl = e AT e S /,ubd"j FKII A LG 31 LGy
(a) Carbon monoxide I AT ik (b) Carbon dioxide T30
(c) Hydrogen S A (d) Oxygen f/ 7

Q. No.13. Use of micro organisms on industrial scale for the welfare of humanity is known as;

:q_t'll.qv( Je— l/,LL_/,,;(,?y o~ 7(/75;../, béé}M&Ul

(a) Hybridization Bt V! (b) Selective breeding Yy e
(c) Biotechnology SAL 7L (d) Tissue culture P/K &
Q. No.14. If the owner of a poultry farm intends to produce more egg laying hens, he may do so by
adopting;
uﬁLLU'/l; .;_ngzc/u_ﬂug/,—/ dl;‘%};ﬁ?lo:y._jbg (Judﬂg._,gﬁ
(a) Genetic engineering __f/-/fluC;" (b) Tissue culture mjﬂ
(c) Selective breeding  — £ 435 (d) Fermentation /= =~
Q. No.15. The symbol of lead is;
e
(@) Fe (b) Ag (c) Pb (d) Ne

Q. No.16. Which one is an example of chemical reaction?

e eSS e Lt

(a) Melting of ice LY

(b) Evaporation of water 67/ u..;,uuf{&g
(c) Ironing the clothes eSS 1K
(d) Burning of wood 174

Q. No.17. The force which binds the atoms of hydrogen and oxygen in water molecule is;
P g .;Lzruv;:&%n&&uywﬁ/ 7 u:-/d,fbé&g
(a) ionic bond I E¥T (b) covalent bond Sesdsd”
(c) temporary bond 2P As (d) physical bond iwﬂ*}

Q. No.18. The symbol for potassium ion is K* and for sulphate ion is SO42. Therefore the
chemical formula of Potassium sulphate is;

i Aty I SOL7 mmerfiir L2 K ons STty

(2) K,SO, (b) KSO, (©) K,(S0,), (d) K,SO,

Q. No0.19. Valency of Na is +1 and of chlorine is -1, NaCl will have charge equal to;

Grade-8, Science, Paper-A, Model Paper Page 3 of 5



A (NaClog—-1 555§ CLil +157% ¥ Na
(@) -2 (b) +2 (©o0 (d) +4
Q. No0.20. Which equation shows a simple decomposition reaction;
Z.;_J//:LJ":(J‘/‘LMML./_"_JI;L/JJ/
(a) Fe+S — FeS
(b) 2H ,+0, - 2H,0
(c) 2Na+Cl, — 2NaCl
(d) CaCO ,—CO, +CaO

Q. No.21. The compounds which have sour taste and turn blue litmus into red are called;
b e S~ -~ &= sl b T IR A S
(a) acids i (b) bases = (©) salts —" (d) alkalis %
Q. No.22. Stains of oil and grease may be removed using an aqueous solution of;

e LSt = 3T Sl A A SR IR N "

(a) copper sulphate Ol (b) alum (L";
(c) potassium chloride i’uﬁ(.‘-&/ by (d) ammonia L—=»

Q. No.23. In the picture a water tank is placed on the roof of a four story building. Water is
supplied to all the stories through a pipe of the same diameter. On which story will the
water pressure be lowest?

4l4fu)}—°/’runéw)‘_g__a@/‘l;4_“¢n:d/dp’f£UCZPL(JLJZ;’JLJJP’JL{_’QWPKU;
Wnf e o 2 Wl I e P S e AL B

(@1 (b) 2
(€3 (d) 4

Water tank

Pipes

Q. No.24. The temperature of hot milk is 77°F. What will be the temperature on Celsius scale?
The formula is [C 5S¢ _32)j
9

[c :%(F —32))4—-Uf/u%’ﬂh/rz’€/-r" e LS E e 000 B oon

(@) 25 (b) 35 (c) 45 (d) 55
Q. No0.25. The image formed by concave lens is always;
:q_t’ﬂ&ﬁélﬂb&é}—f}{é/
(@) virtual & inverted ISz (b) real & inverted eI
(c) virtual & erect s sl f 225 (d) real & erect AE

-y
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Q. No.26.

Q. No.27.

Q. No.28.

Q. No.29.

Q. No.30.

Q. No.31.

Q. No.32.

Which parts of camera and eye work alike?
S e A — (KL L S Lt

L"/'/Km(u)
U Al =25

sl
(b) Diaphragm and Ciliary muscle Wd,’ézﬁ,irnrwys

The particle that causes the flow of current is called;

(@) Film and Cornea
(b) Diaphragm and Iris
(c) Lens and Retina

Wt S g L s S R i

(a) nucleus oE (b) electron i 2
How much time will take a 100 watt bulb to consume one kilo watt hour of energy?

W2 e A S So BT o [ (K 15100

(a) 60 minutes (b) 180 seconds
(c) 600 minutes (d) 1200 seconds

With extreme temperature and pressure under earth, clay is transformed into
metamorphic rock called;

PR R SV o AP N VPP S RN~ GY)

(c) proton wtsy (d) neutron w1/«

fed~
(a) graphite erw) (b) marble Sl
(c) slate —_ (d) quartzite  —_#15

Which group of rocks is likely to have great quantity of fossils;
1t Lo I da P Ry ot s S L

z
—

(a) Gabbro, Coal o~ (b) Chalk, Peat — . />

(c) Coal, Marble e ks (d) Slate, Gypsum (=% _\-

A constellation is a cluster of

:wLnW#JLngMKQI_Q}M(fb
(@) Planets N (b) Stars N
(c) Galaxies  feCS (d) Asteroids 1441 24

The core of some stars expands and the size of these stars increases. The gas discharge
from such stars is;

Uit A e S L Ushir e s STt one =" e So G E ST S S Ui B

e,

(a) oxygen f'/ 7 (b) hydrogen ¢/s.44
(c) chlorine oK (d) nitrogen s~
Key Of MCOQOs
Q.No. Key Q.No. Key Q.No. Key Q.No. Key
1. C 0. d 17. b 25. c
2. b 10. b 18. a 26. b
3. d 11. b 19. c 27. b
4, d 12. b 20. d 28. c
5. a 13. o 21. a 29. c
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6. b 14. c 22. d 30. b

1. d 15. c 23. d 31. b

8. b 16. d 24. a 32. b
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